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Example: Af’r&‘ 3 days a sample of radon-222 decs: yg%to 589% of its original X t
amount. Whit 2 the half-life of radon-222? How long would it take the original ? ~ 1, e
sample to decay to 10% of its original amount? | _(_ L ?6
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- Example: A 100-liter tank initially full of water develops a leak at the bottom,
Given that 10% of the water leaks out m the first 5 minutes, find the amount of
water left in the tank 15 minutes after the leak develops if the water drains off at a
rate that 1s proportional to the amount of water present.
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